Attempt ......... questions

! Radio technology is used in:

(a) Mobile (b)
(c) fax machine (d)
2 Telephone systrem has parts.

Telephone
micro phone

(@ 2 (b) 4
© 5 d 6
3 1024 Kb are equal to:
(a) 1 MB (b) 1 GB
() 1 TB (d) 1 PB

4 1 GB data is equal to:

(a) 1024KB (b) 1024 MB

(© 1000 KB (d) 1024 Bytes

5 From which of the following you can get
information almost about every thing?

(@) Books (b)  Teacher

(c)  Computer (d) Internet.
® 1024 Kb are equal to:

(a) 1 KB (b) 1 MB

(c) 1 GB (d) 1auB

7 Which is the most suitable means.of reliable
continous communication between an orbiting

satellite and earth?

(a) Microwaves  (b) radio waves

(c)  sound waves
8 Radio waves are:

(@)  mechanical

(c) sound waves (d) all of these
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(d) any light waves

(b) electromagnetic
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